B 3 B B Ik 107 4 R AR EHE AR A B

. ELETE =+ B
ﬂﬁ . Mﬁjl%-i BA EARREMAAL S E) VRS | REEREE  TL4PE. * l' ¥
o IEERUABEEES L FUFFHS. */ R
#mes - 331 IRAE. BeBeE REARMESE. | # /B
L. ,

(1)Determine the deflection curve (15%). the angle of rotation 85 (5%),
and the deflection &5 (5%) at the free end of a cantilever beam 4B
having a uniform load of intensity ¢ acting over the middle third of its

length (see Figure 1).
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(2) A propped cantilever beam
from A to C (see Figure 2). The load has a peak intensity go. The

length of the beam is L. Find the support reactions at 4 (10%), and the

deflection curve of the beam (15%).
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is loaded by a triangular distributed load
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Figure 2
(3)Draw the shear force diagram (12%) and bending moment diagram

(13%) for this beam (see Figure 3).
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(4) Find the centroid X (1 0"/@%’2:&11% moement of inertia I, (15%) for

the shape of triangle as shown in the Figure 4. (3 SXREHE)
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